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1 181 ®iE p—8&Me 4,600 | AfBRs 2000 AfEfs 2000 —f& 600
2 XA ki p—&Me 4,450 A%{E 2000 £&18 2000 —#f& 450
3 AR AKX p—8&Me 4,000 & 2000 E&H 2000
4 ) & 21—C 1,200 S#E 800 S 400
5 FI p—8&Me 1,000 S{ERs 1000
558 —@ dIN—J 1,000 SERs 1000
7 &F B 21)—C 800|S4 400 S 400
7T KRR BA p—&Me 800 SR 800
9 #Zl B p—8&Me 700 A4 300 A 300 — 100
/NI B p—&Me 700 A16 100 | A%(E 450 — 150
11 KR e p—8&Me 600 A8 150 S 300 — 150
12 BHO #93 dN—/ 500/S4 400 A 100
13 A& X dviIN—J 400 A16 100 A 300
13 5% BE— p—&Me 400 A16 100 A 150 — 150
13 Pk 1# p—8&Me 400 S 300 — 100
16 /W A =/ 350 A8 150 — 100 — 100
17 5% B —h% 300 A4 300
17 MR fE— p—&Me 300 — 300
17 KR X Ho7—X 300 — 300
20 A = —fi% 280 |BVEH 200 — 80
20 fzk E— dviIN—J 280 A16 100 A 100 — 80
PAPNITIE SN Ho7F—=X 280 BVEEs 200 v 80
23 Tk H— dviIN—J 260 A32 80 A 80 — 100
24 BER FI8A Ho7F—=X 240 BVv4 80 BV 80 1tV 80
24 t&T1 ER p—8&Me 240 A32 80 A 80 — 80
26 KA fE p—&Me 230 AX¥RE 150 — 80
26 6 #ith TOT47 230 A 150 — 80
28 Al B3k aIN—J 200 A16 100 A 100
28 Ik HE— Ho7F—X 200 HVERs 200
30 X5 zfE Ho7F—=X 190 Bv4 80 BV 80 itV 30
31 /MF &%  Wp—&Me 180 A 80 — 100
32 7R BN d2IN—J 160 A32 80 A 80
33 &BX SEBH dViIN—J 150 A8 150
33/\@H B —Hi% 150 A8 150
33 BT ER Ho75—X 150 — 150
33 BEvA BR J1)—C 150 BVH#E 100 1V 50
377EH # Ho7F—X 130/Bv4 80 BV 50
38 & F Ho7F—=X 100 BV#4{E 100
38 =# HMx —h 100 A16 100
38 BF fBE —Hi% 100 A16 100
38 #H =— —f% 100 A16 100
38 &F IEX p—8&Me 100 BV 50 1V 50
38 hARE —%& (W7 —X 100 HVvER 100
38 Al & dN—/ 100 A 100
38 B0 MES} dviN—J 100 — 100
46 |H =¥ =/ 80 A32 80
46 EH #EE —h 80 A32 80
46 HIR RAZ —fi% 80 A32 80
46 # Hth Ho7—X 80 A32 80
46 B &— —fi% 80 A32 80
46 ik B p—8&Me 80 A 80
46 AH RE TOT4T 80 A 80
46 HP 5 —hR 80 - 80
46 Hrf S p—&Me 80 — 80
46 =& 54K dviIN—J 80 A 80
56 f&lE &S HoF—X 50 BV 50
56 EN RE TOT47 50 BV 50




